
Daily Calculations
Daily calculations- 4.5.20



1 2 3 
14 + 17 = 47 + 135 = 326 + 127 = 
32 – 13 = 154 – 38 = 422 – 128 = 
2 x 4 = 3 x 7 = 8 x 9 = 
25 divided by 5 = 24 divided by 3 = 48 divided by 8 = 
½ of 10 1/3 of 12 1/8 of 64 
 



1 2 3 
14 + 17 = 31 47 + 135 = 62 326 + 127 = 453 
32 – 13 = 19 154 – 38 = 116 422 – 128 = 294 
2 x 4 = 8 3 x 7 = 21 8 x 9 = 72 
25 divided by 5 = 5 24 divided by 3 = 8 48 divided by 8 = 6 
½ of 10 = 5 1/3 of 12 = 4 1/8 of 64 = 8 
 



Group 1 Group 2 Group 3 
25 + 17 = 43 + 123 = 333 + 547 = 
35 – 23 = 143 – 74 = 457 – 188 = 
5 x 4 = 3 x 9 = 8 x 12 = 
30 divided by 5 = 36 divided by 3 = 88 divided by 8 = 
½ of 14 1/3 of 24 1/8 of 72 
 



Group 1 Group 2 Group 3 
25 + 17 = 42 43 + 123 = 166 333 + 547 = 880 
35 – 23 = 12 143 – 74 = 69 457 – 188 = 269 
5 x 4 =20 3 x 9 = 27 8 x 12 = 96  
30 divided by 5 = 6 36 divided by 3 = 12 88 divided by 8 = 11 
½ of 14 = 7 1/3 of 24 = 8 1/8 of 72 = 9 
 



Group 1 Group 2 Group 3 
27 + 54 = 46 + 187 = 364 + 589 = 
75 – 58 = 121 – 65 = 422 – 378 = 
10 x 4 = 3 x 12 = 8 x 7 = 
60 divided by 5 = 21 divided by 3 = 40 divided by 8 = 
½ of 20 1/3 of 24 1/8 of 32 
 



Group 1 Group 2 Group 3 
27 + 54 =81 46 + 187 = 233 364 + 589 = 623 
75 – 58 = 17 121 – 65 = 56 422 – 378 = 44 
10 x 4 = 40 3 x 12 = 36 8 x 7 = 56 
60 divided by 5 = 12 21 divided by 3 = 7 40 divided by 8 = 5 
½ of 20 = 10 1/3 of 24 = 8 2/8 of 32 = 8 
 



Group 1 Group 2 Group 3 
27 + 43 = 43 + 107 = 372 + 629 = 
63 – 57 = 182 – 75 = 429 – 348 = 
5 x 3 = 3 x 3 = 8 x 12 = 
15 divided by 5 = 27 divided by 3 = 96 divided by 8 = 
½ of 28 1/3 of 41 2/8 of 56 
 



Group 1 Group 2 Group 3 
27 + 43 = 70 43 + 107 = 150 372 + 629 = 1001 
63 – 57 = 6 182 – 75 = 107 429 – 348 = 81 
5 x 3 = 15 3 x 3 = 9 8 x 12 = 96 
15 divided by 5 = 3 27 divided by 3 = 9 96 divided by 8 = 12 
½ of 28 = 14 1/3 of 41 = 14 2/8 of 56 = 14 
 



Group 1 Group 2 Group 3 
16 + 78 = 47 + 168 = 326 + 835 = 
67 – 57 = 132 – 76 = 357 – 219 = 
5 x 9 = 3 x 6 = 8 x 0 = 
35 divided by 5 = 12 divided by 3 = 104 divided by 8 = 
½ of 22 = 2/3 of 12 = 2/8 of 72 = 
 



Group 1 Group 2 Group 3 
16 + 78 = 94 47 + 168 = 215 326 + 835 = 1161 
67 – 57 = 132 – 76 = 56 357 – 219 = 138 
5 x 9 = 45 3 x 6 = 18 8 x 0 = 0 
35 divided by 5 = 7 12 divided by 3 = 4 104 divided by 8 = 13 
½ of 22 = 11 2/3 of 12 = 8 2/8 of 72 = 18 
 


